Individual Meet Results - Standard: SF2223

UCSC Dino Cup 2023 22-Apr-23 to 23-Apr-23 SC Meters

Location: University of Calgary Aquatic Centre

Time	F/P/S	Event	Place	Points	Improv
Staten Adamek	(9) M				
1:19.19S	F # 67	Male 9-9 50 Free	42		
1:16.02S	F # 72	Male 9-9 50 Back	44		
Gavin Arnett (1	.1) M				
1:15.648	F # 43	Male 11-11 50 Breast	20		1.37
2:20.11S DQ	F # 47	Male 11-11 100 Back			
52.11S	F # 87	Male 11-11 50 Free	29		2.31
57.50S	F # 95	Male 11-11 50 Back	27		-9.14
Hollie Beacom ((8) F				
1:33.09S	F # 65	Female 8-8 50 Free	51		
1:31.04S	F # 70	Female 8-8 50 Back	50		
Sam Bourque (8	8) M				
55.95S	F # 66	Male 8-8 50 Free	18		
1:06.86S	F # 71	Male 8-8 50 Back	25		
Charleigh Brock	(8) F				
58.53S DQ		Female 8-8 50 Free			
1:01.698	F # 70	Female 8-8 50 Back	28		
Katelyn Christie	, (O) F				
59.09S	F # 84	Female 9-9 50 Free	51		
1:06.58S	F # 92	Female 9-9 50 Back	51		
Blakley Dahl (1 1:39.42S	F # 29	Female 10-10 100 Free	25		-13.17
1:52.63S	F # 37	Female 10-10 100 IM	20		-4.13
2:00.89\$	F # 45	Female 10-10 100 Back	23		3.37
1:59.97S FE		Female 10-10 100 Breast	16		-10.36
43.27\$	F # 85	Female 10-10 50 Free	28		-6.44
52.92S	F # 93	Female 10-10 50 Back	39		-2.19
	, -				
Lily Eddy (8) F 1:05.21S	F # 65	Female 8-8 50 Free	37		
1:12.08S DQ		Female 8-8 50 Back			
_	•	Telliale o o so back			
Reece England		Mala 11 11 100 Fara	25		F 70
1:38.28\$	F # 31	Male 11-11 100 Free	25		-5.79
1:54.26S	F # 39	Male 11-11 100 IM	17		-9.40
1:54.28S 2:21.86S	F # 47 F # 79	Male 11-11 100 Back Male 11-11 100 Breast	13		-2.40
44.57S	F # 79	Male 11-11 100 Breast Male 11-11 50 Free	16 22		-1.68 -1.90
52.09S	F # 95	Male 11-11 50 Free Male 11-11 50 Back	21		-2.83
		Male 11-11 30 back	21		-2.03
Simon Freeland		M 1 40 40 400 B	,	2	
1:55.42S FES		Male 10-10 100 Breast	6	3	2.46
40.39S	F # 86	Male 10-10 50 Free	4	5	-3.46
46.42S FES	S F # 94	Male 10-10 50 Back	7	2	-7.07

Individual Meet Results - Standard: SF2223

UCSC Dino Cup 2023 22-Apr-23 to 23-Apr-23 SC Meters

Location: University of Calgary Aquatic Centre

Time	F/P/S		Event		Place	Points	Improv	
Dane Gardner (Dane Gardner (10) M							
1:27.85S FES	-	# 30	Male 10-10 100 Free		6	3	-9.44	
1:49.97\$	F =	# 38	Male 10-10 100 IM		8	1	-0.02	
1:36.96S FES	5 F =	# 46	Male 10-10 100 Back		6	3	-1.77	
40.15S	F :	# 86	Male 10-10 50 Free		3	6	-3.16	
44.03S FES	5 F :	# 94	Male 10-10 50 Back		4	5	0.78	
3:17.29S	F :	# 96	Male 10-10 200 Free		3	6	-25.53	
Cohen Haugrud	(10) M							
NS		# 30	Male 10-10 100 Free					
2:02.92S	F :	# 38	Male 10-10 100 IM		19			
1:10.06S	F :	# 42	Male 10-10 50 Breast		16		-8.09	
41.91S	F :	# 86	Male 10-10 50 Free		6	3	-7.03	
51.64S	F :	# 94	Male 10-10 50 Back		17		-2.30	
Janna Jaber (9)	F							
2:03.45S		# 28	Female 9-9 100 Free		23		-16.98	
1:28.92S	F :	# 40	Female 9-9 50 Breast		31		-3.13	
2:13.53S		# 44	Female 9-9 100 Back		32		-1.77	
56.36S		# 84	Female 9-9 50 Free		48		-3.18	
1:00.73S	F :	# 92	Female 9-9 50 Back		43		-1.61	
Clay Johnston (1	10) M							
1:45.928	-	# 30	Male 10-10 100 Free		18		7.73	
2:01.13S		# 38	Male 10-10 100 IM		18		-4.01	
1:53.45S		# 46	Male 10-10 100 Back		10		-5.20	
45.30S	F :	# 86	Male 10-10 50 Free		16		-2.74	
53.07S		# 94	Male 10-10 50 Back		24		-1.07	
3:33.83\$	F :	# 96	Male 10-10 200 Free		6	3		
Matthew Kohn ((a) M							
2:11.918	F :	# 5	Male 9-9 100 Free		30		-5.47	
1:33.70\$		# 22	Male 9-9 50 Breast		24			
2:19.49\$		# 27	Male 9-9 100 Back		32		2.12	
55.89S	F :	# 67	Male 9-9 50 Free		30		-0.74	
1:01.69\$		# 72	Male 9-9 50 Back		34		0.48	
Kale Kurtz (7) M	м							
39.82S		# 17	Male 7 & Under 25 Back		19			
36.17S		# 54	Male 7 & Under 25 Free		19			
London Lepp (9) F							
1:03.41S	-	# 84	Female 9-9 50 Free		56		-17.00	
1:17.418	F :	# 92	Female 9-9 50 Back		55		-27.79	

Individual Meet Results - Standard: SF2223

UCSC Dino Cup 2023 22-Apr-23 to 23-Apr-23 SC Meters

Location: University of Calgary Aquatic Centre

Time	F/P/S	3	Event	Place	Points	Improv
Jerome Ling (10) M					
38.35S FE	-	# 34	Male 10-10 50 Fly	2	7	-1.74
1:31.86S FES	S F	# 38	Male 10-10 100 IM	4	5	4.04
1:27.19S FES	S F	# 46	Male 10-10 100 Back	2	7	-0.71
3:11.16\$	F	# 82	Male 10-10 200 IM	1	9	-3.16
1:28.68S FES	S F	# 90	Male 10-10 100 Fly	1	9	-1.95
40.47S FES	S F	# 94	Male 10-10 50 Back	1	9	0.46
Kingston Lupycz	zuk (9) M					
1:00.00S		# 67	Male 9-9 50 Free	35		
1:03.99\$	F	# 72	Male 9-9 50 Back	40		
Lauren Macdon	ald (10) F	,				
1:35.218		# 29	Female 10-10 100 Free	18		-10.79
1:56.22S	F	# 37	Female 10-10 100 IM	24		1.75
1:45.71S FES	S F	# 45	Female 10-10 100 Back	13		-7.31
2:12.60S	F	# 77	Female 10-10 100 Breast	35		-7.48
41.26S	F	# 85	Female 10-10 50 Free	17		-3.69
46.81S FES	S F	# 93	Female 10-10 50 Back	16		-3.60
Emily Marchant	(10) F					
2:02.44S	F	# 29	Female 10-10 100 Free	42		-30.37
1:18.21S	F	# 41	Female 10-10 50 Breast	38		-0.32
2:15.16S	F	# 45	Female 10-10 100 Back	30		5.82
NS	F	# 85	Female 10-10 50 Free			
Bryce McKellar	(11) M					
1:46.90S	F	# 31	Male 11-11 100 Free	28		-7.84
2:01.14S	F	# 39	Male 11-11 100 IM	23		-7.29
1:59.26S	F	# 47	Male 11-11 100 Back	16		-2.59
47.54S	F	# 87	Male 11-11 50 Free	25		-1.49
57.38S	F	# 95	Male 11-11 50 Back	26		-3.40
4:07.598	F	# 97	Male 11-11 200 Free	14		
Lachlan McKella	ar (8) M					
1:00.62S	(-) F	# 66	Male 8-8 50 Free	24		
1:07.76S	F	# 71	Male 8-8 50 Back	27		
Landyn Meikle	(11) M					
2:09.41\$	-	# 79	Male 11-11 100 Breast	13		1.40
47.74S	F	# 87	Male 11-11 50 Free	26		-0.67
58.43S		# 95	Male 11-11 50 Back	29		1.96
Cruz Mistrzak (6) M					
40.085	-	# 17	Male 7 & Under 25 Back	20		
38.84S		# 54	Male 7 & Under 25 Free	23		
Alice Mosher (8						
1:30.778	-	# 70	Female 8-8 50 Back	49		
2.501, 75	•	, 0		17		

Individual Meet Results - Standard: SF2223

UCSC Dino Cup 2023 22-Apr-23 to 23-Apr-23 SC Meters

Location: University of Calgary Aquatic Centre

Nora Penniket (10) F	Time	F/P/S	Event	Place	Points	Improv
Remiter Reichert (9) W Semiler 10 10 50 Back Semiler 10 10 50 Back Semiler Reichert (9) W Semiler 10 50 Back Semiler Reichert (9) W Semiler 10 50 Back Semiler Reichert (9) W Semiler Reichert (9) Semil	Nora Penniket	(10) F				
Rentley Reichert (9)	51.15S	F #	85 Female 10-10 50 Free	46		
1:13.58S	1:04.82S	F #	93 Female 10-10 50 Back	54		
Hale	Bentley Reiche	rt (9) M				
1:03.30S	1:13.58S	F #	22 Male 9-9 50 Breast	18		
A5.175	48.40S	F #	67 Male 9-9 50 Free	14		
45.17S	1:03.30S	F #	72 Male 9-9 50 Back	39		
45.17S	Raymond Rem	ole (5) M				
Name	-		17 Male 7 & Under 25 Back	25		
No. Female 7 & Under 25 Back Female 7 & Un	50.838	F #	54 Male 7 & Under 25 Free	34		
Mail	Luella Sorensei	n (7) F				
57.43S F # 86 Male 10-10 50 Free 33 58.63S F # 94 Male 10-10 50 Back 31 Keera Thakrar (8) F 1:15.95S F # 20 Female 8-8 50 Breast 15 1:15.35S F # 65 Female 8-8 50 Free 47 1:12.94S F # 70 Female 8-8 50 Back 41 Brooklyn Threlfall (9) F 1:18.99S F # 84 Female 9-9 50 Free 60 .9.90 1:18.70S F # 92 Female 9-9 50 Back 56 .0.04 Charlotte Watt (8) F F # 92 Female 8-8 50 Free 39 1:10.6 F # 70 Female 8-8 50 Back 39 Madison Zacharias (10) F 2:204.50S F # 41 Female 10-10 100 Fr			16 Female 7 & Under 25 Back			
57.43S F # 86 Male 10-10 50 Free 33 58.63S F # 94 Male 10-10 50 Back 31 Keera Thakrar (8) F 1:15.95S F # 20 Female 8-8 50 Breast 15 1:15.35S F # 65 Female 8-8 50 Free 47 1:12.94S F # 70 Female 8-8 50 Back 41 Brooklyn Threlfall (9) F 1:18.99S F # 84 Female 9-9 50 Free 60 .9.90 1:18.70S F # 92 Female 9-9 50 Back 56 .0.04 Charlotte Watt (8) F F # 92 Female 8-8 50 Free 39 1:10.6 F # 70 Female 8-8 50 Back 39 Madison Zacharias (10) F 2:204.50S F # 41 Female 10-10 100 Fr	Logan Stehr (1	0) M				
Keera Thakrar (8) F 1:15.95S F # 20 Female 8-8 50 Free 47 1:15.35S F # 65 Female 8-8 50 Free 47 1:12.94S F # 70 Female 8-8 50 Back 41 Brooklyn Threlfall (9) F # 84 Female 9-9 50 Free 60 9-90 1:18.70S F # 92 Female 9-9 50 Back 56 0.04 Charlotte Watt (8) F # 32 Female 8-8 50 Free 39 1:11.26S F # 65 Female 8-8 50 Free 39 1:11.26S F # 70 Female 8-8 50 Back 39 Madison Zacharias (10) F # 29 Female 10-10 100 Free 47 -20.03 1:11.79S F # 41 Female 10-10 100 Back <td></td> <td>-</td> <td>86 Male 10-10 50 Free</td> <td>33</td> <td></td> <td></td>		-	86 Male 10-10 50 Free	33		
1:15.95S F # 20 Female 8-8 50 Breast 15 1:15.35S F # 65 Female 8-8 50 Free 47 1:12.94S F # 70 Female 8-8 50 Back 41 Brooklyn Threlfall (9) F 1:18.99S F # 84 Female 9-9 50 Free 60 -9.90 1:18.70S F # 92 Female 9-9 50 Back 56 0.04 Charlotte Watt (8) F 1:10.8.40S F # 65 Female 8-8 50 Free 39 1:11.26S F # 65 Female 8-8 50 Back 39 Madison Zacharias (10)** 5 F # 29 Female 10-10 100 Free 47 -20.03 1:11.79S F # 41 Female 10-10 100 Back 34 -4.95 2:23.13S F # 45 Female 10-10 100 Breast 47 -6.58 51	58.63\$	F #	94 Male 10-10 50 Back	31		
1:15.95S F # 20 Female 8-8 50 Breast 15 1:15.35S F # 65 Female 8-8 50 Free 47 1:12.94S F # 70 Female 8-8 50 Back 41 Brooklyn Threlfall (9) F 1:18.99S F # 84 Female 9-9 50 Free 60 9.90 1:18.70S F 92 Female 9-9 50 Back 56 0.04 Charlotte Watt (8) F 1:10.8.40S F # 65 Female 8-8 50 Free 39 1:11.26S F # 65 Female 8-8 50 Back 39 Madison Zacharias (10)* F # 20 Female 10-10 100 Free 47 -20.03 1:11.79S F # 41 Female 10-10 100 Back 34 -4.95 2:23.13S F # 45 Female 10-10 100 Breast 47 -6.58 51.84S F	Keera Thakrar	(8) F				
1:12.94S F # 70 Female 8-8 50 Back 41 Brooklyn Threlfall (9) F # 84 Female 9-9 50 Free 60 9-9 0 1:18.70S F # 92 Female 9-9 50 Back 56 0.04 Charlotte Watt (8) F # 65 Female 8-8 50 Free 39 1:08.40S F # 70 Female 8-8 50 Back 39 1:11.26S F # 70 Female 8-8 50 Back 39 Madison Zacharias (10) F # 29 Female 10-10 100 Free 47 -20.03 1:11.79S F # 41 Female 10-10 50 Breast 37 -4.95 2:23.13S F # 45 Female 10-10 100 Back 34 -6.58 2:40.83S F # 77 Female 10-10 50 Free 47 -6.58 51.84S F # 85 Female 10-10 50 Free 47 -6.58			20 Female 8-8 50 Breast	15		
Brooklyn Threlfall (9) F 1:18.99S F # 84 Female 9-9 50 Free 60 9-90 1:18.70S F # 92 Female 9-9 50 Back 56 0.04 Charlotte Watt (8) F 1:08.40S F # 65 Female 8-8 50 Free 39 1:11.26S F # 70 Female 8-8 50 Back 39 Madison Zacharias (10) F E # 29 Female 10-10 100 Free 47 -20.03 1:11.79S F # 41 Female 10-10 50 Breast 37 -4.95 2:23.13S F # 45 Female 10-10 100 Breast 34 -2.68 2:40.83S F # 77 Female 10-10 100 Breast 47 -6.58 51.84S F # 85 Female 10-10 50 Free 47 -6.58	1:15.35S	F #	65 Female 8-8 50 Free	47		
1:18.99S F # 84 Female 9-9 50 Free 60 -9.90 1:18.70S F # 92 Female 9-9 50 Back 56 0.04 Charlotte Watt (8) F 1:08.40S F # 65 Female 8-8 50 Free 39 1:11.26S F # 70 Female 8-8 50 Back 39 Madison Zacharias (10) F 2:04.50S F # 29 Female 10-10 100 Free 47 -20.03 1:11.79S F # 41 Female 10-10 50 Breast 37 -4.95 2:23.13S F # 45 Female 10-10 100 Breast 47 -6.58 51.84S F # 85 Female 10-10 50 Free 47 -9.15	1:12.948	F #	70 Female 8-8 50 Back	41		
1:18.99S F # 84 Female 9-9 50 Free 60 -9.90 1:18.70S F # 92 Female 9-9 50 Back 56 0.04 Charlotte Watt (8) F 1:08.40S F # 65 Female 8-8 50 Free 39 1:11.26S F # 70 Female 8-8 50 Back 39 Madison Zacharias (10) F 2:04.50S F # 29 Female 10-10 100 Free 47 -20.03 1:11.79S F # 41 Female 10-10 50 Breast 37 -4.95 2:23.13S F # 45 Female 10-10 100 Breast 47 -6.58 51.84S F # 85 Female 10-10 50 Free 47 -9.15	Brooklyn Threl	fall (9) F				
Charlotte Watt (8) F 1:08.40S F # 65 Female 8-8 50 Free 39 1:11.26S F # 70 Female 8-8 50 Back 39 Madison Zacharias (10) F 2:04.50S F # 29 Female 10-10 100 Free 47 -20.03 1:11.79S F # 41 Female 10-10 50 Breast 37 -4.95 2:23.13S F # 45 Female 10-10 100 Back 34 -2.68 2:40.83S F # 77 Female 10-10 100 Breast 47 -6.58 51.84S F # 85 Female 10-10 50 Free 47 -9.15	-		84 Female 9-9 50 Free	60		-9.90
1:08.40S F # 65 Female 8-8 50 Free 39 1:11.26S F # 70 Female 8-8 50 Back 39 Madison Zacharias (10) F 2:04.50S F # 29 Female 10-10 100 Free 47 -20.03 1:11.79S F # 41 Female 10-10 50 Breast 37 -4.95 2:23.13S F # 45 Female 10-10 100 Back 34 -2.68 2:40.83S F # 77 Female 10-10 100 Breast 47 -6.58 51.84S F # 85 Female 10-10 50 Free 47 -9.15	1:18.70S	F #	92 Female 9-9 50 Back	56		0.04
1:08.40S F # 65 Female 8-8 50 Free 39 1:11.26S F # 70 Female 8-8 50 Back 39 Madison Zacharias (10) F 2:04.50S F # 29 Female 10-10 100 Free 47 -20.03 1:11.79S F # 41 Female 10-10 50 Breast 37 -4.95 2:23.13S F # 45 Female 10-10 100 Back 34 -2.68 2:40.83S F # 77 Female 10-10 100 Breast 47 -6.58 51.84S F # 85 Female 10-10 50 Free 47 -9.15	Charlotte Watt	(8) F				
Madison Zacharias (10) F 2:04.50S F # 29 Female 10-10 100 Free 47 -20.03 1:11.79S F # 41 Female 10-10 50 Breast 37 -4.95 2:23.13S F # 45 Female 10-10 100 Back 34 -2.68 2:40.83S F # 77 Female 10-10 100 Breast 47 -6.58 51.84S F # 85 Female 10-10 50 Free 47 -9.15			65 Female 8-8 50 Free	39		
2:04.50S F # 29 Female 10-10 100 Free 47 -20.03 1:11.79S F # 41 Female 10-10 50 Breast 37 -4.95 2:23.13S F # 45 Female 10-10 100 Back 34 -2.68 2:40.83S F # 77 Female 10-10 100 Breast 47 -6.58 51.84S F # 85 Female 10-10 50 Free 47 -9.15	1:11.268	F #	70 Female 8-8 50 Back	39		
2:04.50S F # 29 Female 10-10 100 Free 47 -20.03 1:11.79S F # 41 Female 10-10 50 Breast 37 -4.95 2:23.13S F # 45 Female 10-10 100 Back 34 -2.68 2:40.83S F # 77 Female 10-10 100 Breast 47 -6.58 51.84S F # 85 Female 10-10 50 Free 47 -9.15	Madison Zacha	rias (10) F				
2:23.13S F # 45 Female 10-10 100 Back 34 -2.68 2:40.83S F # 77 Female 10-10 100 Breast 47 -6.58 51.84S F # 85 Female 10-10 50 Free 47 -9.15			29 Female 10-10 100 Free	47		-20.03
2:40.83S F # 77 Female 10-10 100 Breast 47 -6.58 51.84S F # 85 Female 10-10 50 Free 47 -9.15	1:11.79S	F #	41 Female 10-10 50 Breast	37		-4.95
51.84S F # 85 Female 10-10 50 Free 479.15	2:23.13\$	F #	45 Female 10-10 100 Back	34		-2.68
	2:40.83S	F #	77 Female 10-10 100 Breast	47		-6.58
1:02.42S F # 93 Female 10-10 50 Back 530.37	51.848	F #	85 Female 10-10 50 Free	47		-9.15
	1:02.428	F #	93 Female 10-10 50 Back	53		-0.37